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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2016

Subject Name: Digital Electronics and Digital Instruments

Subject Code: 2TEO4DEI1

Branch: Diploma(Electrical)

Semester: 4 Date: 16/05/2016 Time: 02:30 To 05:30 Marks: 70
Instructions:

(1) Use of Scientific Calculator/Programmable calculator & any other electronic instrument

is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

f)
9)
h)
i)
)
K)

1)

Attempt the following questions:

The number of digits in hexadecimal system

a)10 b)15 c)16 d)8

A+AB =

aA b)B c)0 d)1

A counter has modules of 10. The number of flip flop is

a3 b)4c)l d)5

A 14 pin AND gate IC has

a) 6 AND gates b) 5 AND gates c) 4 AND gates d) 7 AND gates

Max term designation for A+B+C is

aM1 b)M3 c¢c)M7 d)MO

The number of inputs and outputs of full adder are respectively

a) 2and2 b) 2and3 c¢) 3and2 d)3and3

Min term designation for ABCD is

ayml b)ml5 c)ml6 d)m8

The widely used binary multiplication method is

a) Repeated addition b) Shiftand add c¢) Any of above d) add and shift
Nor gate is a combination of

a) OR and NOT gates b) AND and NOT gates ¢) Two NOT gates d) Any of above
If A=10110, A =

a) 10111  b)01001 c) 11011 d)10110

Compliment can be achieve by

A) NOT Gate b) EX-OR gate c) NAND gate d) All of above

D/A converter are generally

a) Binary ladder network b) Weighted resistor network c) A and B d) none of above

m) A=010110 and B= 101001 are input of Ex-OR gate then, Output is

n)

a) 101111  b)010111 c) 111111  d)110110
(0111)B + (10)0 =
a) (15D b)(16)D c¢)(32)H d)(25)0

Pagel || 4

T
2
s
> I
<U “l " >

Q
1s°

NP
A

(14)



Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-6

Q-8

A
B

@

> oW

Attempt all questions.

Explain Excess-3 code with suitable example

Prove the following

(i) A’BC+ AB’C +ABC’ + ABC = BC +AC + AB

(i) ((AB’C)’ + (ACD)’ + (BC’))’ = AB’CD

Explain the working of JK flip-flop with the help of Logic circuit
and truth table. Why master slave operation is required?
Attempt all questions.

Reduce the following expression using Karnaugh map.

(i)F= m(0,2,6,10,11,12,13) Don’t care d(3.4,5,14,15)

(ii)F= m(1,2,6,7,8,13,14,15) Don’t care d(3,5,12)

Draw the truth table and symbol of following gates :

(i) OR (ii) NOT (iii) NOR (iv) EX-OR (v) NAND GATE (vi)and (vii)Ex-nor
Attempt all questions.

Convert the following Gray codes into Binary codes

(i) 1001101 (ii) 111111001

Explain parallel binary adder.

Draw and explain 4 bit binary up counter.

Attempt all questions.

Do the following subtractions using 2’s complement.

(i) 101100 — 111111 (ii) 7C — FE (iii) 101 - 11010

Explain digital frequency meter.

Attempt all questions.

Explain 3x8 DECODER and 8x3 ENCODER circuit.

Show that: AB+ ABC (BC+C)AC=1

What is sequential circuit? Explain S-R and J K flip flop.

Attempt all questions.

Explain terms :

(i) Don’t care condition (ii) +Ve Logic (iii) —Ve Logic(iv) SOP Form

(v) Consensus Theorem (vi) half adder (vii) Asynchronous counter.

Explain following specifications with reference to Analog to Digital conversion
(1) Resolution (2) Accuracy (3) Conversion speed (4) Sampling speed.
Attempt all questions.

(ii) (8C) 16 +(11) 8 +(100) 2= (') 10 (You are required to show the calculation and
filling the blanks)

State De Morgan’s theorems.

What is Karnaugh Map? A truth table has output 0 for input ABCD=0000,0010,

1100, 1101, 1110, 1111, 0101, 0111. Simplify & draw circuit using Karnaugh Map
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a)

b)

c)

d)

€)

9)

h)

ol Aol Yllotl wellol (14)

A ugl ... ool Slal.

a)10 h)15 c)16 d)8

A+AB =

a)A b)B ¢)0 d)1

As 5162 ol 10 WSYA B. sellusclu ol dvaut............ alaL.
a)3 b)y4 c)1 d)5

A5 ¥ Ulot Aos A2 e, Al

a) 6 AoS A2 Sl b) 5 Wes A2 Sl ¢) 4 Wos A2 Sl d) 7 Wes e SlaL.

A+B+C o] N8 UE........... ®.

QM1 b)M3 c¢)M7 d)MO

§CL ASR HL Potye ol AUG2Y2 ofl AVA AUASN oo sl
a) 2ol 2 h) 2A:al3 ) 32  d)3uA3

ABCD of Hlaue.......... 8.

ayml b)yml5 c¢)ml6 d)m8
........................ (B3 ojaustx 1L W2 etdl U Aaldl ugl B?

) AUIZs ARl b) [Qlse A UL ) S5 UL A5 d) AR Aa (s
B I C I RET)
a) OR ol NOT dl& of b) AND 24al NOT A2 of ¢) A NOT 2 of d) AU il

°l A=10110 Al A=
a) 10111 b)01001 c) 11011 d)10110
............................................. s{ldee Aol astal

A) NOT deell b) EX-OR A2l ¢) NAND el  d) At el
AUHRAUBL DAETUER......voeeeeeeeeereeeeeeneeeeenen oll 8.
a) llaat3l As? alecs b) Ages AR A2as ¢) Aual Bd) S5 uel i3

%l A=010110 ¥\ B=101001 EX-OR il 8faiye sl l wGaye
a) 101111  b)010111 c) 111111  d)110110

(0111)B + (10)0 =

a) (15D b)(16)D c¢) (32)H d) (25)0

yst 2 Al ust ¢ Hidl S18 uel AR Al

U

o{lAll Ysllotl wallot A (14)
AAU-3 Sls Ao Gelsrrell UMl 03
o{lAetl WA 5A. (i) A’BC+AB’C+ ABC’ + ABC = BC +AC + AB 04

(i) ((AB’C)’ + (ACD)’ + (BC))’ = AB’CD
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GUUA U AlRs usle ol Heedll Jgellu sAQU ofl stiyeue(l AHecl.al HIZ HReR
A AU %33 B?
ol Al Yol scllol WL

solls AU ol GuAL &l o{lAetl A{1sR0L sy 5.

(i)F=m(0,2,6,10,11,12,13) Don’t care d(3,4,5,14,15)
(il)F=2m(1,2,6,7,8,13,14,15) Don’t care d(3,5,12)

oAl e MR g 2 UR sl € :

(i) OR (i) NOT (iii) NOR (iv) EX-OR (v) NAND (vi) AWIiJEx-nor

ol Aatl Ysllotl wcllol A,

o{lAsll I 515 A cllAetI] SlS L 3UidR 8. (i) 1001101 (ii) 111111001
WAHA G2t WS AU

4 olle allauet?l AU 516o2R Ellal AU AL

ol Aol Ysllotl wallet .

¥ slcllRoe ofl uee ol ollAcllouecusl sA.

(i) 101100 — 111111 (ii) 7C — FE (iii) 101 - 11010

Slyed (sscal Hl2r uxsAl

ol Aatl Ysllotl wcllol A,

3x8 Sl51SR ol 8x3 WeHls URSle AU

AB+ ABC (BC + C) AC = 1 €2lidl.

AlscloAd A2 9 B? S-R U JK sellu sellu AHxstAl,

o{lAoll Ysllotl wallet .

YEL AUl (i) Sloe 32 SSlatat (i) WAl Ay (iii) ANl As (iv) SOP S
(v) ool laARM (vi) sleg ASR (vii) AASlotx 51602

WalAL 2 BBed 50c18 ofl WUl ol Aotl UELell RARSF2AA AN

(1) AUt (2) sy (3)s0cdbot 1S (4) Aaucllol s,

o{lAoll Ysllotl wallet .

(ii) (8C)16 +(11) 8 +(100) 2 = () 10 (ALl e2licllal vl YRU.)

Sl olet ot YRA weuLal.

solls AU g B? As ga el WL Heiye ABCD=0000,0010, 1100, 1101, 1110, 1111, 0101, 0111
H2 AUG2Y2 0 B.50ls AU ol Hee ol AEIU W AR Al ERL
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